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Professor Elizabeth Kelly

Problem 1

a) P=$3 and Q=20.

b) Tax = $2/unit.

Plug in Q=10 in the demand, you will find PT=$3.50.

Plug in Q=10 in the supply curve without taxes, you will find PN=$1.50.

c.1) $20 millions.

c.2) $10 millions.

c.3) CS with the tax=$2.50 millions; PS with the tax=$7.50 millions.

Problem 2

	 
	Q
	P
	(*)
	Point Elasticity
	(*)
	Point Elasticity
	 
	Arc Elasticity
	 
	Arc Elasticity

	A
	0
	5
	 
	 
	From B to A
	-4.00
	 
	 
	From B to A
	-9.00

	B
	1
	4
	 
	 
	From C to B
	-1.50
	From A to B
	-9.00
	From C to B
	-2.33

	C
	2
	3
	From B to C
	-4.00
	From D to C
	-0.67
	From B to C
	-2.33
	From D to C
	-1.00

	D
	3
	2
	From C to D
	-1.50
	From E to D
	-0.25
	From C to D
	-1.00
	From E to D
	-0.43

	E
	4
	1
	From D to E
	-0.67
	 
	 
	From D to E
	-0.43
	From F to E
	-0.11

	F
	5
	0
	From E to F
	-0.25
	 
	 
	From E to F
	-0.11
	 
	 

	(*) First point given is (Q1, P1): e.g. from B to C, the coordinates of point B=(1,4)=(Q1, P1)


Problem 3

a) P=$5/unit and Q=5

b) TR=$25

Part I

From: P=5 and Q=5; TR=25

c) P=$6/unit and Q=4.5

d) %ΔQd = -10% and %ΔP = 20%, i.e., |%ΔQd |<| %ΔP|. Therefore, demand is inelastic.

e) TR=$27

Part II

From: P=$7.5 and Q=3.75

f) P=8.5 and Q=3.25

g) Total Revenue decreases slightly as you move into the elastic region of your demand curve. 

Part III

From: P=$8.5/unit and Q=3.25; TR=$27.63.

h) P=$9.5/unit and Q=2.75; now TR=$26.13.

i) Total Revenue decreases as you move further away from the unit elastic point (the midpoint of the demand curve).  

j) You can see that in Part I TR goes up and in Part III TR goes down.

Also, notice that in Part I the PE is greater than –1 (less than 1 in absolute value). On the other hand, in Part III the PE is less than –1 (greater than 1 in absolute value).

In other words, in Part I we are raising prices in the inelastic part of the demand and in Part III we are raising prices in the elastic part of the demand.

Along the inelastic part of the demand, responses in quantities in percentage terms are smaller than the changes in price in percentage terms as measured with absolute values. Along the elastic part of the demand curve, the changes in quantity in percentage terms are larger than the changes in price in percentage terms as measured with absolute values.

